

Page 462 no 369

$$x^2y^2 + 5xy - 14 = (x+7y)(x-2y)$$

$$s = 5y \quad p = -14y$$

$$7y \quad -2y$$

$$-x^4 + 12x^2 - 20 =$$

$$-(x^4 - 12x^2 + 20) = -(x^2 - 10)(x^2 - 2)$$

$$s = -12 \quad p = 20$$

$$-10 \quad -2$$

Page 462 no 370

$$a^2b^6 + 3ab^3 - 40$$

$$s = 3b^3 \quad p = -40b^6$$

$$8b^3 \quad -5b^3$$

$$= a^2b^6 + 8ab^3 - 5ab^3 - 40 =$$

$$- ab^3(a^2b^3 + 8) - 5(ab^3 + 8) = (ab^3 - 5)(ab^3 + 8)$$

$$x^8 + 8x^4 + 14$$

$$s = 8 \quad p = 14$$

$$7 \quad 2$$

$$(x^4 + 7)(x^2 + 2)$$

$$① a^3b^3 + a^2b^4 - ab - b^2 =$$

$$b(a^3b^2 + a^2b^3 - a - b) = \text{TOTAL}$$

$$b[a^2b^2(a+b) - (a+b)] = b[(a^2b^2-1)(a+b)] \text{ PARTIAL}$$

$$= b(ab-1)(ab+1)(a+b) \text{ SUMA DE DIF}$$

$$② a^2 + 2ab + b^2 = (a+b)^2$$

$$③ a^2b + a + ab^2 + b = \text{ERRORE TESTO UCTINA FACINOROSIS}$$

$$a(ab+1) + b(ab+1) = (a+b)(ab+1)$$

$$\text{MCD} = a+b$$

$$\text{mcm} = b(ab-1)(ab+1)(a+b)^2$$

$$6x^2 - 6x = 6x(x-1) \text{ TOTAL}$$

$$2x^2 - 2 = 2(x^2-1) = 2(x-1)(x+1) \text{ TOT + DIFF QUAD}$$

$$x^3 + x^2 = x^2(x+1) \text{ TOTAL}$$

$$\text{MCD} = 1$$

$$\text{mcm} = 6x^2(x+1)(x-1)$$

PAF 982 v. 98

$$x^4 - x^3 - 6x^2 = x^2(x^2 - x - 6) = x^2(x-3)(x+2) \quad \text{TOT + TRIN. PAETI}$$

$$x^4 + 8x = x(x^3 + 8) = x(x+2)(x^2 + 4 - 2x) \quad \text{TOT + SOMMA DI CUBI}$$

$$x^3 + 5x^2 + 4x = x(x^2 + 4x + 4) = x(x+2)^2 \quad \text{TOT + QUAD. TRIN.}$$

$$\text{MCD} = x(x+2)$$

$$\text{mcm} = x^2(x+2)^2(x^2 + 4 - 2x)(x-3)$$

PAF 982 v. 99

IRRIDUCIBILE

$$e^3 + 2e + 1 = (e+1)(e^2 + e - 1) = \text{RUFFINI}$$

e	1	0	-2	1
+1		+1	+1	-1
	1	+1	-1	=

$$e^4 - 2e^2 + 1 = (e^2 - 1)^2 = (e-1)^2(e+1)^2 \quad \text{QUAD. TRINOMIO + DIFF. QUAD.}$$

$$e^4 + e^3 - e^2 = e^2(e^2 + e - 1) \quad \text{TOT}$$

= IRRED.

$$\text{MCD} = 1$$

$$\text{mcm} = (e+1)^2(e-1)^2(e^2 + e - 1)e^2$$